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1A 1B 1C 10 1E

1) done 1) ~ of 15 is 9 1) -t of 12 is 4 1) t of 15 is 6 1) t of 20 is 16

2) 6' 2' t: 1of 6 is 3
~ of 18 is 12 1of 9 = 3 ~ of 6 is 3

' , '2
2) 2) !of 20 is 15 2) 2)

3
3) 10'5'4'.1 of10is8

~ of 8 is 5 3) 1879=2 3) 1075 = 2' , '5
~ of 18 is 143) 3) 2 x 5 = 10 2x5=10

4) 9' 3' 2' £. of 9 is 6
4) 2075=4 ) 4) 1075=2 4) 2074=5' , , 3 4) 1674=4

8' 4' 3' ~ of 8 is 6
4 x 3 = 12 4x2=8 2x2=4 5 x 3 = 15

5) J , , 4 5) 673=2 5) 1075 = 2 5) 874 = 2 5) 2476= 4
2x2=4 2x1=2 2x3=6 4x5=20

6) 872=4 6) 1876 = 3 6) 3076=5 6) 5677=8
4x1=4 3 x 5 = 15 5x5=25 8x1=8

7) 474=1 7) 973=3 7) 4878=6 7) 1273 =4
1x3=3 3x1=3 6 x 7 = 42 4x2=8

8) 673=2 8) 1274 = 3 8) 2476 =4 8) 1075 = 2
2x1=2 3x3=9 4 x 3 = 12 2x2=4

9) 874=2 9) 1075 = 2 9) 3577=5 9) 874 =2
2x1=2 2x3=6 5x4=20 2x1=2

10) 1075 = 2 10) 472=2 10) 1075=2 10) 3278 = 4
2x4=8 2x1=2 2x3=6 4x3=12

11) 672=3 11) 1273=4 11) done 11) 25 + 13 + 25 + 13 = 76"
3x1=3 4x1=4 12) 20+10+20+10=60' 1~ 32+16+32+16=9&

12) 1273=4 12) 1272 = 6 13) 15+7+15+7=44" 13) 78 + 39 + 78 + 39 = 234"
4x2=8 6x1=6

13) 1075 = 2
14) 6073 = 20 14) $1672=$8

13) 1678 = 2 20 x 2 = 40 $8x1=$8
2x2=4 2 x 7 = 14

14) 1274=3
15) 2575=5 15) 20 + 30 + 20 + 30 = 100'

14) 1477=2 5 x 3 = 15
3x1=3 2x3=6 16) 5677 = 8

15) 2075 = 4 8 x 4 = 32
15) 1072 = 5

5x1=5 4x4=16 17) 6 + 11 + 6 + 11 = 34'

18) 1879=2
2 x 7 = 14 (J)
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